9H4H (K 9HA5H (K) 9H6H (K) 9A7TH (&)
08:30-09:00 = £t = A
09:00-10:00 | & — A#GEOWFE 1 H—A%%@%ﬁ34ﬁ¥§;§£W%7 BT 1
35w NEY) (V2R R ACRR) = ééﬂ *’iﬁ)‘ (BB E)
10151115 | E T DEEOWER 2 | TR 1 5y A AL L 77U 2
(17 R R ACHR) (KB E) CEM 4£) RRBEEL)
EAIR 1 . .
oo i e H PR 2 DAA A AL 2
11:30-12:30 ?E%ﬁ@%ﬁiﬁﬁéﬁﬁ (FEKAR ) CEAk )
(KRR #)
12:30-14:00 JBR F AR A JBR F
HAA U T 2 IKEA A PR 1
ne1san | ZMHA A E—A < g | —ERKEA AR
R I e B e e =
CHIE=>) ’ (W5 NEEEZ)
BEAA P IKEBEA A PR 2
.1 ~ZfliA A B — A —ERKEA VB
16:15°16315 | "o o vt BlAT 7 A~ ~O A~
GCIE=>) . (T ANBEEZ)
R
16:30-17:00 L

(A HFE)




